A: 29 Snook St Clontarf QLD 4019
P: PO Box 122 Margate QLD 4019
T: 07 3897 5700

E: info@ecb.com.au

ABN: 25 010 676 034
ecb.com.au Part of GUD Holding Limited - ASX: GUD customalloy.com.au

B3FUO007SY
FITTING INSTRUCTIONS
FUSO CANTER FE8/FG 4X4 WIDE CAB DELUXE 3 BULLBAR

Stepl.

e Park Vehicle on level ground and apply park brake.

e Remove bumper from truck, four (4) 10mm bolts
at front face of bumper.

Step2.
e Remove tow lugs, two (2) 14mm bolts each side. _
e Remove one (1) 10mm bolt above tow lug each 4

side.
10mm bolt
14mm bolts.
1 -
Drivers side pictured |
Step 3.

e Remove mount from bullbar and fit to chassis rail.

e Four (4) M10 x 1.25 x 30mm bolts and washers
into holes where bumper was removed.

e Leave loose - Finger tighten only.

M10x 30 x 1.25mm
bolts and washers

Step 4.

e Inserttwo (2) % x 1 % bolts, flat washers and nyloc
nuts through steel mounting brackets and tow lug
holes.

e Insertone (1) M10 x 1.5 x 40mm bolts, flat
washers and 10mm whiz nuts to top hole.

7 S
|Drivers side pictured |

Page | 1



A: 29 Snook St Clontarf QLD 4019
P: PO Box 122 Margate QLD 4019
T: 07 3897 5700

E: info@ecbh.com.au

ABN: 25 010 676 034
ecb.com.au Part of GUD Holding Limited - ASX: GUD customalloy.com.au

Step 5.

e This step is optional.

e The white panel in front of the black step can be
painted matt black to match in with the step

e This panel is visible after the bullbar is fitted)

Step 6.

e Remove indicator housing to connect wiring
harness

e Remove two (2) Phillip head screws behind door.

Phillip head
screws

Step 7. —
e Feed harness upwards behind headlamp

assembly and connect to indicator and parker
harness just above the headlamp

Step 8.
e Refit indicator housing with harness hanging
below headlamp.

CANTER 2,0

Page | 2



A: 29 Snook St Clontarf QLD 4019
P: PO Box 122 Margate QLD 4019
T: 07 3897 5700

E: info@ecbh.com.au

ABN: 25 010 676 034
ecb.com.au Part of GUD Holding Limited - ASX: GUD customalloy.com.au

Step 9.

o Sit bullbar on steel mounting brackets aligning
hinge brackets.

e Lifting the bullbar slightly each side, insert eye
bolt holes into holes and leave loose.

e Fit one (1) 9/16 x 2 bolt, flat washer and nyloc
nut to hinge bracket hole (each side)

e Tighten until bolt passes through plastic nyloc
nut.

o Tighten eye bolts slightly firm.

Step 10.

o Align bullbar with the vehicle.

e Tighten chassis bolts highest side, then raise
other side to be level and tighten in position.

Step 11.

e Check bullbar is aligned square to vehicle and
tighten front four (4) M10 x 30 x 1.25 bolts.

e Recheck chassis bolts.

e Tilt bullbar and connect indicator / parker
harness to lights.

o Lift bullbar, refit eye bolts and tighten very firm.
e Check correct operation of lights.

Step 12.
e Place warning tilt cab sticker close to the tilting
handle.

Attach sticker

Page | 3



A: 29 Snook St Clontarf QLD 4019
P: PO Box 122 Margate QLD 4019
T: 07 3897 5700
E: info@ecbh.com.au

ABN: 25010 676 034

ecb.com.au Part of GUD Holding Limited - ASX: GUD

Fitting Kit

4 |-

M10 x 1.25 x 30mm Bolts

2 -

M10 x 1.5 x 40mm bolts with washers / nuts attached

=
o

M10 thick flat washers

M10 Whiz nuts

% x 2” Bolts

%" Nyloc nuts

%" Flat washers

Patch Harnesses (ICHCUSTAL)

Scotch locks

Tilt Bullbar warning sticker

[ N I I N NS
1

Fitting Instructions

Attach

ed to Bullbar

Mount Bracket

9/16 x 2 %" Bolts.

9/16” Nyloc nuts

9/16” Flat washers

%" Eye bolts

NINIPDININ|F-
1

%" Flat washers

customalloy.com.au

Page | 4



A: 29 Snook St Clontarf QLD 4019
P: PO Box 122 Margate QLD 4019
T: 07 3897 5700

E: info@ecb.com.au

ABN: 25010 676 034

ecb.com.au Part of GUD Holding Limited - ASX: GUD customalloy.com.au

DESPATCH CHECKLIST
B3FUOOO/SY

FUSO FE8/FG 4X4 WIDE CAB

Work Order # Photo of steel
Finish:
mount on back of
Transport:
Due Date: PAgE
ocC 1 Steel Mounting Bracket
ocC 2 3” Overriders (CAO1 Plastic)
ocC 2 Custom Alloy Badges — Fitted to Overriders
oC 2 LED Parker Lights (ICLED33INDPRK-95202CUST)
WR 1 Steel Mounting Bracket — Fitted to Bar
WR 2 3” Overriders (CAO1 Plastic with CA badges) — Fitted to Bar
WR 2 Eyebolts (3/s” UNC ZP) and Washers — Fitted to Bar
WR 2 2 4" x °16” UNC Bolt Grade 8H/T — Fitted to Bar
WR 2 916" Nyloc Nut — Fitted to Bar
WR 4 °/16" Flat Washer — Fitted to Bar
WR 2 LED Parker Lights (ICLED33INDPRK-95202CUST) — Fitted to Bar
WR 1 Bolt Kit — Taped to Mount

Is this product “the best it can be” Yes /

Wrapper’s initials / Checker initials

If NO fix before continuing

All parts checked and completed by:

Nut and bolts: Date / [
Order control: Date / [
Final wrap check: Date / [

Page | 5



ecb.com.au

A: 29 Snook St Clontarf QLD 4019
P: PO Box 122 Margate QLD 4019
T: 07 3897 5700
E: info@ecbh.com.au

ABN: 25010 676 034
Part of GUD Holding Limited - ASX: GUD

customalloy.com.au

Page | 6



